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Short answer questions/problems

Note:  Except possibly for questions in which you are required to provide a list, your answers to the following short-answer questions should be no more than a sentence or two.  If you write more, you will likely run out of time.

1.  In our discussion of the costs associated with conflicts of interest in the firm, I stated that the goal of the firm is to minimize total agency costs not simply unresolved agency costs.  How would the cost of unresolved agency costs stemming from stockholder/bondholder conflict show up?

Higher interest rates/lower bond price
2.  List (but do not discuss) two reasons that the project with the highest internal rate of return may not increase firm value the most.  
Two of:  projects may differ in scale, project with higher NPV may be dominated by LT cash flows and thus have a lower IRR, in some cases need to accept project with lowest IRR, projects may have different risk.
3.  Spidy2 Inc. is considering expanding it production capacity by building a 3rd assembly line for its Spidywear clothes.  The line would cost $350,000 to build.  While its expected useful life is 10 years, it falls into the 5-year MACRS depreciation class.  If Spidy2’s marginal tax rate is 35%, what is the impact of the $350,000 cost on cash flows today and 3 years from today (Note:  write a “+” to indicate a cash inflow/increase and a “-“ to indicate a cash outflow/reduction)?

CF0 = -$350,000; CF3 = +$350,000(.192)(.35) = +23,520
4.  Shrinking Telephone and Telegraph (ST&T) is thinking about selling its facilities in Arkansas, Louisiana, Missouri, New Hampshire, Ohio, Tennessee, and Washington.  Revenues in these states were $2 billion in ST&T’s fiscal year 2004 (which just ended) but were expected to fall by 9% per year.  If ST&T’s marginal tax rate is 35%, how should the loss of revenues in fiscal year 2005 be factored into the decision on whether or not to sell the facilities (Note:  write a “+” to indicate a cash inflow/increase and a “-“ to indicate a cash outflow/reduction)?
CF1 = -$2,000,000,000(.91)(1-.35) = -$1,183,000,000
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5.  Bycom Inc. is considering whether or not to build a new facility for creating computer games for the X-box 2.  Your boss at Bycom (Winter Greenstone) has asked you to sketch a decision tree based on the following information.  The facility would cost $3 million to build.  Sales are expected to equal either $4 million per year or $0.25 million per year.  If sales equal $4 million per year, the facility can be expanded a year from today.  However, if sales only equal $0.25 million per year, the facility could be sold a year from today for $1 million.  Note:  You should only sketch the decision tree with as much detail as possible, do not do any calculations.  

[image: image1]
6.  Assume you have recently accepted a job at Ynos Electronics.  Ynos is well established in the electronics business but has decided to build on its well-know brand name to launch into the business of building major appliances (like refrigerators).  In a meeting you have been invited to attend, executives are discussing what discount rate to use when evaluating the project.  You suggest that Ynos use the average asset beta for firms already in the appliance industry.  As all eyes turn to you, your boss asks you to quickly list the benefits of such an approach.  What do you say?
It 1) helps when the risk of the project differs from the firm’s existing assets and it 2) helps reduce small sample problems.  

7.  Your boss then asks whether there are any potential problems they need to be aware of if they take your suggestion.  What do you say?
The main one that applies in this case is that the new project may be riskier for Ynos than for established firms in the major appliance industry.
8.  What do we call the debt contract?
Indenture

9.  Assume that Dell decides to issue additional shares of common stock in order to fund its continued expansion.  What are two of the ways discussed in the review sheet for investors to become informed about the possible issue?
Two of:  prospectus (legal document describing issue), red herring (preliminary prospectus), tombstone advertisement (used by underwriters to advertise issue).
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10.  A number of studies have generated evidence on how firms actually set their capital structures.  What have such studies found about the amount of debt that high growth firms tend to have?
Little debt.

Problems/Essays

1.  One of the ways we discussed for helping to resolve conflicts of interest in the firm is through monitoring.  

a.  What is monitoring and what role does it play in resolving conflicts of interest in the firm?

b.  In class, we discussed 4 basic conflicts of interest between stockholders and bondholders.  List those 4 potential conflicts.

c.  Discuss which 2 of the 4 that monitoring is mostly likely to help resolve and which 2 of the 4 that monitoring is least likely to help resolve.  Be sure to justify your answer.  
a.  monitoring:  principal observes agent; role:  makes sure agent living up to contract

b.  1)  undertaking high-risk projects; 2) fail to undertake positive NPV projects with equity funding; 3) issue debt with same priority of claim as existing debt; 4) pay dividends to common stock holders.
c.  Most likely to resolve through monitoring:  dividends and debt since dividend payments and debt issuances can be easily observed

Least likely to be resolved through monitoring:  the two stemming from project since difficult to observe the reasons for undertaking a project and it would be impossible to find out about positive NPV projects that never get undertaken.

2.  TownGroup Inc. is considering building a new bank in Waco at a cost of $2,500,000.  If the new bank does well, it can be expanded (by building additional floors) any time over the next 4 years at a cost of $1,000,000.  If the bank fails to attract sufficient business, it can be sold at any time over the next 6 years for $1,500,000.  Additional information on TownGroup and the project follows:
Present value of expected cash flows for:  TownGroup as a whole:  $242 billion; new bank = $3,000,000; possible expansion = $900,000
Standard deviation of returns for:  TownGroup as a whole before new bank built= 38%; new bank = 45%; TownGroup as a whole after new bank built= 38.01%; possible expansion = 53%

Maturity value of:  TownGroup’s debt before new bank built = $180 billion; debt being issued to fund new bank = $1,200,000.
Time horizons:  Life of existing assets = 15 years; life of new bank = 20 years; maturity of TownGroup’s debt = 8 years.  

Other costs:  cost to replace existing assets = $160 billion

Risk-free rates (all APRs assuming continuous compounding):  1-month = 1.22%; 1-year = 1.92%; 4-year = 3.58%; 6-year = 4.28%; 8-year = 4.66%; 15-year = 5.13%; 20-year = 5.36%
How should TownGroup factor in the impact of possibly expanding the bank when it decides whether or not to build the new bank?  Note:  calculations required.
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TI-83 solution:  373,666.87
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3.  Assume that during George Bush’s 2nd term he gets Congress to eliminate all personal taxes on investment income.  Based on the discussion of personal taxes and capital structure, discuss what will change if the taxes on personal investment income were eliminated.  Note:  you should limit your discussion to those issues raised in our discussion of capital structure.

Key => personal taxes on interest exceed personal taxes on dividends

Implications of the existence of personal taxes:

1)  Firms issue less debt because of rise in personal taxes as issue debt

2)  Bondholders demand higher pre-tax return on bonds than equity (of same risk) to compensate for higher personal taxes

3)  In equilibrium, low tax-bracket investors own bonds and high tax-bracket investors own stocks

Without personal taxes on investment income:

1)  Amount of debt issued by firms rises
2)  Pre-tax return on debt falls relative to equity

3)  Investors no longer sort themselves by tax bracket.

4.  Modigliani and Miller show that if we have perfect capital markets, then stockholders are indifferent to changes in a firm’s capital structure.  What arguments can be made to support this conclusion?
1)  Capital structure only determines who gets a firm’s cash flows once the assets generate them

=> doesn’t affect either the level or risk of those cash flows

=> changes in capital structure do not affect the value of a firm’s assets

2)  Investors can costlessly undo the impact of a firm increasing its leverage

=> if firm issues bonds and repurchases shares, investor can sell shares and purchase new bonds

3)  Investors can create own leverage if firm does not

=> can borrow against shares

=> impact is identical to what would occur if firm were to borrow

4)  When a firm increases its leverage the risk to stockholders increases since the least risky cash flows are now promised to bondholders
=> this leaves stockholders with the high-risk cash flows

=> as the firm increases its leverage, the return demanded by stockholders rises

=> this increase in required return is exactly offset by an increase in the expected return on stock

=> since bonds are less risky than stock, the firm can borrow at a lower rate than the expected return on the firm’s assets

=> Modigliani and Miller show that the increase in expected and required returns exactly offset.
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